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Sub-Section Number : 1
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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 8247244621 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Development of children proceeds from to

Options:

1. abstract; concrete.
2. general ; specific.
3. toe; head.

4. extremities ; centre.

Question Number : 1 Question Id : 8247244621 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 2 Question Id : 8247244622 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A): Children from high income families spend their day very differently than children

from low income families.
Reason(R): Childhood is not universal and there is a lot of diversity of childhoods.

Choose the correct option.

Options:

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true and (R) is false

4. Both (A) and (R) are false

Question Number : 2 Question Id : 8247244622 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 3 Question Id : 8247244623 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A child learners to grasp large things (such as a ball) with hands before learning to pick up a pea

using pincer grasp. Which principal of development does this illustrate?
Options :

1. Cephalocaudal

2. Proximodistal

3. Equilibration

4. Conservation

Question Number : 3 Question Id : 8247244623 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 4 Question Id : 8247244624 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A): Children learn knowledge, skills, values, customs of the society by their parents only.
Reason (R): socialization of children is a simple and linear process.

Choose the correct option.

Options:

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A)is true and (R) is false

4. Both (A) and (R) are false

Question Number : 4 Question Id : 8247244624 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 5 Question Id : 8247244625 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Childrenin ...... stage understand object permanence but do not realize that actions can be

reversed and their judgments are based on immediate appearance of things.
Options :

1. Sensori-motor

2. Pre-operational

3. Concrete operational

4. Formal operational

Question Number : 5 Question Id : 8247244625 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Correct Marks : 1 Wrong Marks : 0

For children who are in pre-operational stage teachers should -
Options :

1. use concrete props and a lot of audio-visual materials.

2. depict hierarchical relationships through complex diagrams.
3. give abstract problems to work upon.

4. give opportunities to solve problems that require hypothetical thinking.

Question Number : 6 Question Id : 8247244626 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 8247244627 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following is a correct example of scaffolding?

Options :
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3. Offering materialistic rewards

4. Enabling conditioning of stimulus-response

Question Number : 7 Question Id : 8247244627 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 8 Question Id : 8247244628 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Lev Vygotsky believed that -

Options :

1. learning is mere absorption of knowledge.

2. learner is a controlled response to rewards.

3. knowledge can be transmitted from the teacher to the students in a passive manner.

4. knowledge is co-constructed in a zone of what the child can do independently and with support

from others.
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Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 8247244629 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

At which stage of Lawrence Kohlberg's moral development theory do individuals reason that

human rights and justice is most important even if they go against the societal laws?
Options:

1. Obedience and Punishment Orientation

2. Good boy-good girl orientation

3. Authority and social-order maintaining orientation

4. Universal Ethical Principles orientation

Question Number : 9 Question Id : 8247244629 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 8247244630 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In a progressive classroom, learning-

Options :

1. is a simple process.

2.is a social process.

3. can take place only through formal instruction.

4. is conditional upon exams.

Question Number : 10 Question Id : 8247244630 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 8247244631 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is a correct Howard Gardner?

Options:

1. Intelligence cannot be nurtured and grown.

2. Each individual possesses different kinds (s) of intelligence.
3. Intelligence quotient is a successful predictor of intelligence.

4. People belonging to certain class are more intelligence than others.

Question Number : 11 Question Id : 8247244631 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 8247244632 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

At the primary level, National Education Policy 2020 proposes as the medium of

instruction across the nation.
Options :

1. Hindi

2. English

3. Sanskrit

4. Mother tongue / Home language

Question Number : 12 Question Id : 8247244632 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 13 Question Id : 8247244633 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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1. Behaviouristic classroom.
2. Socio-constructivist classroom.
3. Teacher centric classroom.

4. Textbook centric classroom.

Question Number : 13 Question Id : 8247244633 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 14 Question Id : 8247244634 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What kind of pedagogy would enable a teacher to cater to individual differences among learners

in her class?

Options:

1. Standard and uniform

2. Totally centered around exams

3. Totallv centered around textbooks
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Question Number : 14 Question Id : 8247244634 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 15 Question Id : 8247244635 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The aim of assessment according to National Education Policy 2020 is -
Options :

1. testing rote memorization.

2. measuring reproduction and recall.

3. to support children in the process of learning.

4. to arrive at parameters to compare children across the country.

Question Number : 15 Question Id : 8247244635 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 16 Question Id : 8247244636 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Inclusion means -

Options:

1. embracing all students irrespective of their social identities.
2. ignoring the barriers that create undue effort and separation.
3. promotion of discrimination and intolerance of differences.

4. unequal opportunities of participation and engagement.

Question Number : 16 Question Id : 8247244636 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 8247244637 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

For successful inclusion of students belonging to diverse cultural backgrounds, which of the

following should be avoided by the teacher?

Options :

1. Acknowledge and respect every student.

2. Give priority to the experiences of dominant groups.
3. Incorporate diversity in the content of teaching.

4. Practice cultural sensitivity in classroom.

Question Number : 17 Question Id : 8247244637 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 18 Question Id : 8247244638 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Dyslexia is primarily associated with difficulty in:
Options :

1. Reading

2.Singing

3. Thinking

4. Walking

Question Number : 18 Question Id : 8247244638 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 8247244639 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:

1. Allow only fixed mode of expression

2. Attribute failure to lack of ability

3. Give very long and frequent assignments

4. Provide several alternatives for receiving information

Question Number : 19 Question Id : 8247244639 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 20 Question Id : 8247244640 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Students with giftedness-

Options :

1. absorb information quickly and accurately.

2. are incapable of solving questions below their age-levels.
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Question Number : 20 Question Id : 8247244640 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 21 Question Id : 8247244641 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher should her students for making intuitive guesses to answer a question.
Options :

1. encourage

2.ignore

3. punish

4. restraint

Question Number : 21 Question Id : 8247244641 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
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Options :

Question Number : 22 Question Id : 8247244642 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following should be avoided while helping students to elaborate on a recently

learned concept?

Options :

1. Acting out the relations between various sub-concepts
2. Creating examples and non-examples of the concept
3. Apply the acquired information to new problems

4. Writing on board and asking students to copy the same without understanding.

Question Number : 22 Question Id : 8247244642 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 23 Question Id : 8247244643 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Students' failure can be minimalized by implementing a curriculum which is
Options :

1. connected to their social context.

2. highly challenging and complex.

3. irrelevant to their everyday life.

4. moving from abstract to simple.

Question Number : 23 Question Id : 8247244643 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 8247244644 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

For meaningful learning to take place, it is important to-
Options :

1. develop competitive culture in the classroom.

2. give space to children's views and experiences.

3. present information in disconnected chunks.

4. provide examples which are not related to student's social context.

Question Number : 24 Question Id : 8247244644 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 25 Question Id : 8247244645 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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1. Ask them to find common attributes among given examples
2. Present non-examples related to the concept
3. Present the complex concepts first and then move to simpler ones

4. Relate the new content with previous knowledge

Question Number : 25 Question Id : 8247244645 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 26 Question Id : 8247244646 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

After answering the questions based on recall of specific information a students is reflecting on

what cues helped her. By doing so, the students is developing
Options :
1. delayed imitation.

2. ego-centricism.
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Question Number : 26 Question Id : 8247244646 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 27 Question Id : 8247244647 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A step-by-step prescription of achieving a goal is called
Options :

1. algorithm.

2. heuristics.

3. means-end analysis.

4. mnemonics.

Question Number : 27 Question Id : 8247244647 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
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Question Number : 28 Question Id : 8247244648 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Misconceptions among students represent their
Options:

1. extremely flawed and irrational thinking process.
2. higher-order emotional and intellectual abilities.

3. native and intuitive understanding about concepts.

4, severe cognitive deficiencies and neurological disorders.

Question Number : 28 Question Id : 8247244648 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 29 Question Id : 8247244649 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is likely to cause pride among students?
Options :

1. When failure is seen as caused by oneself

2. When failure is seen as caused by others

3. When success is seen as caused by oneself

4. When success is seen as caused by others

Question Number : 29 Question Id : 8247244649 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 30 Question Id : 8247244650 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is an example of Intrinsic motivation?
Options :

1. Ishould study because it is important to understand the concept.

2. Ishould study to avoid the punishment by teacher.

3. I should study to gain first position in the competition.

4. 1should study to get praise and dominance over my peers.

Question Number : 30 Question Id : 8247244650 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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